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Algebra 2 TEST 3.1 Review

Given g(x)=—x"+2x+8, find each of the following..

Graph: show at least 3 points 1(a). the vertex 1(b). Isthe vertexa
y aximum-r minimum?
! = (') +2(1) :B &7 the maximum or
A -4 1*B "= minimum value?
¢ 14) A
_ A 1(¢c). the axis of symmefr'y 1(d). the roots
3 d \ (equation) -b _2_ "Z - | (x?_-.u-e):o
T 2 ™ = Z(") 2 -."? x=z-2orH
: | X=1 (-4)xr2)=0
‘ 1(e). the y -intercept 1(f) Domain: m
: !
v .4 \ (O} 8) Range:: Y A q
+ \
Factor Each:
(2. 5x° —15x 3. 6x> —18x+4 4. x*=25 5. 36x° —49y°
(- st oD (ex 2y o)
SX (X '5) 1(31('5-4)( ,.,7_) N“‘ (x*S)()( S> @X ""7’, ex 7y
6. 8x* —50x 7. x> +4x~-12 8. x* —13x+iti) . 9. Hint: 6CF 1°
be -2 -Sd [P~ 2x* —4x-96
2x(4x=25) ir -13 2 (F-2X -98)
-8-6
delzess)(@x-5)| D (X-2) | (x-s)(x-8) [ A
10. 2x2+x—-21'l'¢-"'/‘z- 11. 6x* —17x+5b =35\ (xR Xxe ) )
1.5 -2 -1s
: -S
Find The zeroes (roots) by fccfomng ] “Z
12. x*-2x }5 0 13. x;_=8x 14, x° ~7x+/1i=o
N -
oty | R &
-2 = -1
=5 X=3) K=o x=g) (x-D(x-u)=0
15. 3x =8x-5 16. 4x* =4x+15 ( ._3 or R=H
3x —6><+5 o Yy - 4x-15§=0
3.5= 18 U--15z2 - 60
L™ ~
=3 =S -0 *b
3’}{ > ]
b s [
-1 3 -5 2
(x-D{(3x-5)=0 L 2
X =\ x—;% l (2)(*5)(2)(‘\'3):30




Complete the SQUARE trinomial and factor.

x’=20x+_ {00

17.
(X =10 Y

i8 x* +40x+ 0O
(X*¥20 )

Solve by completing the square;

19. x2-12x+33=0
Xloilx = =323 456"

20. x’—16x=—40 +f%

s
JIx-8> ={24

=33 %36
=e) =3 w-8=+fin
X-b =27y Yo 48
Xz 23 v= $xl2v

Quadratic Formula

21. State the Quadratic Formula

== b¥ [pt-dac

p——

Z

22. State the discriminant
b-dac

Standard form. Put in standard form and state @, b, and ¢

hzs. x2-3x=5 a=_l bz =3 = -5 24, 3 -T=-51 &=_ D b= 5 =7
Yt-3x-S xS -7
25. 3x-4x’=0 a= =Y b= 3 = O 26. x’—=6x=-9 a= U b= ~b c= 9
-Hxtrax=e ¥t -4xtrq =¢o
Solve by using the quadratic formula, SHOW ALL WORK.
27. x*+7x+15=0 28. 2x;—5x=—3
X==7% {74118 ,-73'-:_." Ix"-5x+3=0 y=5*{T
- x=5*J5%4.23 4
2. X=S%)_41,.6
State the discriminant. Then state how many roots there are: 1 real, 2 real, or 2 complex. H T4 v
29. x’-6x=-7 X?-(.!ﬂ:o 30. x*-6x+9=0 31 x22=6x—]1 !-.-.l“_
2 - =0
=417 " =~4-1-9 X : ex i\
3b-28 =l8§ 26-36=0 6 -4-1-1
2 Real | Cead 26 -Y4= B Zeoy

State how many times the parabola will cross the x-axis by the description of the discriminant.

32. the discriminant is <0

Nownt

U

33. the discriminant is >0

Z +ined

|}

34. the discriminant =0

| 1wt




Sketch a graph of a quadratic with the given information.

35. D=25, opens downward

36. D=-5 opens upward

37. D=0, opens downward

y Ya Ya
1 1
4 1/ l 5 — ¢x — »
L wL v
Algebra 2 TEST 3.1 Review ANSWERS
1a (L9) b.max 9 c. x=1dx=-2,4 e (0.8) or 8 f.D: R :R: (—,9]
2. 5x*(x-3) 3.2(x2—9x+2) {4 (x+5)(x-3) 5 6

(-6x +7yN6x—7Y)

2x(2x—5)(2x +5)

7. (x=2)(x+6)

8. (x—8)(x-5)

9. 2(x+6)(x—8)

10. (x+3)(x-=7)

11, 3x—-1)(2x-5)

12.
Cx+TY(2x+T7)

13. (x—-8)(x—-8)

14. x=-3,5

15. x=0, 8

16. x=3, 4




